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TEEOBRBICEYRENOB EEICERTS | TESORBICLYREYO® EEITHERT S TEEOBBCLVEENOM ERICERTS | TRSORBICEYEEMOM EEITERTS
LREENDA LBEEND A EHEEhDA LEBESNDH
:I:E%G)(ﬁiﬁ)%‘ém' - o :I:E%d)ﬁéi:{n%'éﬁ n o
BETABROER | gokn,/m25 22 5K 5 RETRBOER [1000n/m?% 422 5 X b
ADKEE| £FZE |HOKREE +FE |AOKES| 2FE |NWOKREE| £F5F NDOKES| +H%E |DOKES| £7% |HOXES| +FE |NOXES +HE
D3LEA| 0Es |O3LRA oBs |0358X oms |0358X| oB D3ERK | OBEE |D3BRK| oBE |D3BEK| oBx |O3E&RK 0B
DED DED nHLO LX) L] DLD DED EN0)]
(kN/m?) (m) (kN/m?%) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?%) (m)
1 ~ 2 1344 | 1.0 100.0 1.0 = | — 13.3 2.7 ~
2 ~ 3 143.9 1.0 100.0 1.0 = - 13.5 2.7 ~
3 ~ 4 148.5 1.0 100.0 1.0 = - 15.2 3.0 ~
4 ~ 5 1485 1.0 100.0 1.0 - - 15.2 3.0 ~
5 ~ 6 1485 | 1.0 100.0 0 | - | - 13.6 2.7 ~
6 ~ 7 146.3 1.0 100.0 1.0 = N 13.4 2.7 ~
7 ~ 8 146.3 1.0 100.0 1.0 = — 14.9 3.0 ~
8 ~ 9 1463 | 1.0 100.0 1.0 = [ - 14.9 3.0 ~
9 ~ 10 = = 100.0 1.0 = = 10.5 2.1 ~
10 ~ 11 - - 95.2 1.0 - - 10.5 2.1 ~
11 ~ 12 = | = 100.0 1.0 - | = 11.7 2.4 ~
12 ~ 13 1159 1.0 100.0 1.0 = - 11.7 2.4 ~
13 ~ 14 138.3 1.0 100.0 1.0 = — 140 2.8 ~
14 ~ 15 1464 | 10 100.0 1.0 = [ = 15.2 3.0 ~
15 ~ 16 150.0 1.0 100.0 1.0 155 3.1 15.2 3.0 =~
16 ~ 17 150.0 1.0 100.0 1.0 - - 15.2 3.0 ~




